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[image: image2.jpg]Ileasie anreGpandecKue ypaBHeHUSA




[image: image3.jpg]3.1.005(6). Pemure ypPaBHeEHUe
(x — 8)® +(x — 5)® = 2(x — 4)°.




[image: image4.jpg]3.1.B02(6). PemuTte ypaBHEHUE
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[image: image5.jpg]3.1.B01(6). Pemure ypasrenne 3x% + 251 x + 17=0.




[image: image6.jpg]:;.1.004(5). Pemure ypasaenue (5x + 4)% = (3x)°.




[image: image7.jpg]3.1.CO3(6). Pemmnre ypaBHeHue
(22 — 12x + 20)% = (2 + 2x — 12)2




[image: image8.jpg]3.1.C07(6). Haiigure BCe ﬁapm qucen X ¥ Y, ANA KO-
TopEIX (x — 2y + 12+ (2x + y — 8)2 = 0.




[image: image9.jpg]3.1.B10(6). Pemnre ypasuenne | x — 17 | = 8.




[image: image10.jpg]3.1.C01(a). ’Pem’wr'el yp_aanefmell bx—4|=|8-5x]|.




[image: image11.jpg]3.1.C08(a). PemnTe ypaBHeHUE
| 5x2 — 3x — 2| = —5x2 + 8x + 2.




[image: image12.jpg]3.1.C06(6). Pemure ypgnnenn'e (x— 2 =23+ 2x — 4.




[image: image13.jpg]3.1.B09(6). Permmure ypaBHéHne Ox*+ 8x2-1=0.




[image: image14.jpg]3.1.C10(6). Pemiute ypaBHeHUE
(22 + %) - 8(x?2 + x) + 12 = 0.




[image: image15.jpg]3.1.C09(6). Pemute ypaBHeHHUE
(x + 4)(x + 5)® = (x + B)(x + 4)3.




[image: image16.jpg]3.1.B01(a). PemuTte ypaBHEeHUE
27x? — 643 x +1=0.




